
1

Assembly Instruction

049-000067

Part List

A 8x25mm Dowel

No. SHAPE DESCRIPTION

Qty.

Hardware List

34PcsM3.5X16mm ScrewB

M4x45mm ScrewC

11Sets

15mm Minifix MyfixD

46PcsStickerF

 6Pcs5/8 Nail With PinE

79Pcs

1

10

30Pcs6/8 Power PinG

2

3

4

5

6

7

7

8

9

10

10

11

12

13

14

15

1624

17

19

18

20

21

22

23

 4PcsL BracketH

23

23

23

3SetsDrawer Slide (250mm)I

78Pcs

17

19

18

20

21

22

17

19

18

20

21

22



Assembly Instruction

Step 2

2

Step 1

A

8

4

5

6

7

7

11

12

13

1

9

14

15

10

10

10

16

24

I

B

2

4

18

19

78Pcs
A 8x25mm Dowel

18

19

18

19

I

B

B

18Pcs

B

3Pcs

I

3Pcs

I Drawer Slide 250mm - L

Drawer Slide 250mm- R

M3.5x16mm Screw

B

I

I



Assembly Instruction

3

Step 3

Step 5 Step 6

Step 4

F

4

D

C

F

C

5

6

8

13

14

F

C

9

10

10

11Pcs
D

4Pcs
C

2Pcs
C

4Pcs
C

4Pcs
F

2Pcs
F

4Pcs
F

17

17

17

Myfix

M4x45mm Screw

Sticker

M4x45mm Screw

Sticker

M4x45mm Screw

Sticker



Assembly Instruction

4

Step 7

Step 9 Step 10

Step 8

C

C

9

11

F

4

5

6

7

7

12

11

D

D

4

2Pcs
C

8Pcs
C

2Pcs
D

8Pcs
F

9

10

2Pcs
C

2Pcs
F

C

F

Minifix

M4x45mm Screw

Sticker

M4x45mm Screw

M4x45mm Screw

Sticker



Assembly Instruction

5

Step 11

Step 13

C

F

10

4

C

4

1

14

15

9

23

23

23

23

Step 12

Step 14

15

24

16

2

1

5

6

7

7

C

F

13

4Pcs
C

8Pcs
C

14Pcs
C

14Pcs
F

4Pcs
F

M4x45mm Screw

Sticker

M4x45mm Screw

M4x45mm Screw

Sticker



13

11

10

10

G

23

23

23

23

2

3

Assembly Instruction

6

Step 15

Step 17

Step 16

B

H

E

3

2

15

24

16

3

2

24

16

14Pcs
C

30Pcs
G

6Pcs
E

16Pcs
B

4Pcs
H

Step 18

14Pcs
F

C

F

12

1

3

16

24

M4x45mm Screw

Sticker

M3.5x16mm Screw

6/8 Power Pin

L Bracket

5/8 Nail With Pin



D

C

17

18

19

20

19

21

22

21

Assembly Instruction

7

Step 19

Step 21

17

17

17

18

17

19

17

B

9Pcs

B

9Pcs

B

3Pcs

I

3Pcs

I

M3.5x16mm Screw

M3.5x16mm Screw

Drawer Slide 250mm- R

Drawer Slide 250mm- L

I

9Pcs
C

15Pcs
D

I

I

I

B

B

B

B

B

I

I

I

I

X 3

X 3

X 3

Step 20

Step 22

Minifix

M4x45mm Screw


